1. Enter the binary string into the CRC generator, taking bits from the left. Note the first four bits just shift in.  Until there is a 1 in the leftmost position, it is just simple shifting. 
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	111 0110 1010   transpose 111 0101 1010
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	Infix
	Postfix

	
	1 3 7 9  + * + 2 4 6 * + *


1 3 7 9 2 4 6 

1 3 (7 + 9) 2 4 6 

1 (3 * (7 + 9)) 2 4 6 

(1 + (3 * (7 + 9))) 2 4 6 

(1 + (3 * (7 + 9))) 2 (4 * 6) 

(1 + (3 * (7 + 9))) (2 + (4 * 6)) 

(1 + (3 * (7 + 9))) * (2 + (4 * 6)) 

2. Determine the Hamming-code parity bits for the following two sets of data. Assume even parity. 

	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	0
	0
	1
	0
	0
	0
	0
	1
	1
	1
	1
	1
	0
	0
	1


7. Two’s complement.  Note that -76 is that number which when added to +76 gives zero.  Assuming we are using eight bits to represent a number calculate the two’s complement of 76.  First replaces 1’s with 0’s and vice versa. 

	0
	1
	0
	0
	1
	1
	0
	0

	1
	0
	1
	1
	0
	0
	1
	1


Next add 1 to your result.

	
	1
	0
	1
	1
	0
	0
	1
	1

	+
	0
	0
	0
	0
	0
	0
	0
	1

	
	1
	0
	1
	1
	0
	1
	0
	0


Now demonstrate that 76 + (-76) = 0

	
	0
	1
	0
	0
	1
	1
	0
	0

	+
	1
	0
	1
	1
	0
	1
	0
	0

	1
	0
	0
	0
	0
	0
	0
	0
	0


Then add 33 and –76. 

	
	1
	0
	1
	1
	0
	1
	0
	0

	+
	0
	0
	1
	0
	0
	0
	0
	1

	
	1
	1
	0
	1
	0
	1
	0
	1


Does the answer make sense?  How do you know?

	


